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Spl. 2020
WATER SUPPLY & SANITARY ENGINEERING

m fuifE @y 79 [STfrmaw 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70

qe: () THH I AT 8, 9w @ et AR & 3 A
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) FIF F¥7 3 T 47T 1 FHAR 0 G 5T FNT
Solve all parts of a question consecutively together.
(iii) ¥ 397 1 79 78 & IRE] F)ford |
Start each question on fresh page.
(iv) 1 4797371 § 317 817 %1 17 7 37 s3amg 8 a7 8 |

Only English version is valid in case of difference in both the languages.

Lo (1) o9&l & Seedn & qaiqam e Iuge fafa 2 -
(a) IR gig faft (b) TfRa fafy
(c) nfirfery qf fafs (d) wgam gfg faf

For large cities, the suitable method for forecasting population is
(a) Arithmetical increase method

(b) Graphical method

(¢) Geometrical increase method

(d) Incremental increase method

) fEissno s e e sas@d 7

(a) I worTedt %1 I9FnT (b) T % S R HT Jgq A
(c) 9t it 3= oraE (d) T SerEry
Which of following causes a decrease in per capita consumption.
(a) Use of metering system (b) Better standard of living people
(¢) Good quality of water (d) Hotter climate
(3) gera 91 % arht hit ar Hftrerer srrafa vt Y oET E =Ry |
(a) Y= : (b) 10 d9t.di.wm.
(c) Sddtum. (d) 45 dt.di.m.
BOD of safe drinking water must be .
(a) zero (b) 10PPM (c) 5PPM (d) 45PPM

(10f8) P.T.O.
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(4) Ser-wrRo o 3 o § pH Y s d @ R
(@) 458550 (b) 6.588.5TH
(c) 5.586.5TH (d) 8.5¥10.5 T
The permissible pH value for public supply water is between
(@) 4.5t05.5 (b) 6.5t08.5
(¢) 55t06.5 (d) 8.5t010.5
(5) A S heet %1 TS 1 He Bl 2
(a) 2939 (b) 249 48 WA
(c) 24T 4890 (d) 24948 9<E
The period of cleaning Rapid sand filter is
(a) 2 to3 months (b) 24 to 48 months
(¢) 24 to 48 hours (d) 24 to 48 weeks
Rpestl &1 TaES 92 |
(a) IR FEHE (b) UegMHTEH TEHe
(c) & TEHe (d) i TS
Chemical formula for alum is
(a) Copper sulphate (b) Aluminium sulphate
(¢) Ferrous sulphate (d) Ferric chloride
it Y fyaor womreft 3 wRR aTed SR SITdT R |
(@ TEFRFW b) Iafagw
(c) refgm (@) Iwe wf
A scour value, in a water distribution system is provided at
(a) Low points (b) High points
(¢) Junction points (d) All of these
(8) wwwmﬁmgﬁﬁ%ﬂmﬁméﬁmmﬁﬁqﬁﬁﬁmﬁmﬂﬁaﬁ
el 9164 B
(a) T A= dTed (b) TEA-TrESH AT
(c) T aTed (d) T 9

The type of valve which allows water to flow in one direction but prevent its
flow in the reverse direction is

(a) Pressure relief valve (b) Air-release valve
(c) Sluice valve (d) Reflux valve
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Toreron urgw srfirenfoie ford wma & |

(a) fereram &fes | (b) ftaa afees it

(c) rfreram wfererer @i (d) 3rfereran Y srfireran wfeever 6 gam win

The distribution mains are designed for
(a) Maximum daily demand

(b) Average daily demand

(c) Maximum hourly demand

(d) Maximum of maximum hourly demand of coincident

gt et & fore 3ugem faawor yoreft =61 famrma gran 2

(a) w= U yorredt (b) TR A1 for yoret

(c) 3 yorreft (d) U 1 firg yoredt

The suitable layout of a distribution system for a well planned city is
(a)  Dead end system (b) Ring system

(c) Radical system (d) Grid-iron system

e 1 YR S TA%T § I 9159 | e A e 8

(a) Eg-TEd dres (b) e @1 €A I

(c) TETa-TEd ATed (d) Feurarca

The type of valve, which is provided at the suction pipe in tube well is
(a) Air-relief valve (b) Reflux valve

(c) Pressure relief valve (d) Sluice valve

ATCTIVET FeheA1eh I STYTIT 1T £ | |

(a) TEIRTES geM & forg (b) SwTEE % ferg

(c) hIeTeneE % forg (d) wga a1 To & frg
Nalgonda technique is adopted for

(a) Fluoride removal (b) Coagulation

(¢) Disinfection (d) Softening

39 FeR 1 FAUeH T H § 391 TR B Thal &

(a) wHfen | (b) TEHEE

(c) T TEaf=a W (d) 3w

' Non-Disposal of solid waste may cause the spread of

(a) Malaria (b) Typhoid
(¢) Rodents related plague (d) Dysentery

P.T.O.
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(14) HST-FHa &1 2
(a) T@IIRE (b) i T SrafirE
(c) X HAURTE ' (d) I d FHE T
Garbageisa
(a) Dry-waste (b) Semi-liquid waste
(¢) Liquid waste (d) None of these

(15) qET=a: e & Tt 3 g 2
(@) 0.1 Hievdwve (b) 0.2 Hievdshve
(c) 0.4 Hievgsve (d) 0.75 HevaHTs
The self-cleaning velocity normally adopted for sewers.
(@ 0.1 m/s (b) 0.2m/s
(¢) 04m/s (d 0.75m/s

(16) 3N 3 T Hia 3 3T 1 FgH T IHE Bal 2 |
(a) T 9E ST AT # | (b) I ITHEAR |

(c) Tefiamuea-ggaia | (d) IS I
The effect of increasing diameter of sewer on the self-cleaning velocity is
(a) Self-cleaning velocity increase
(b) Self-cleaning velocity decrease
(¢) It fluctuating
(d) Nil effect
(17) AT Seh! ST TR T Fhal 2 |

(a) TEEEIH (b) TR &

(c) FARIHIE (d) Y & & HIE T8

The pathogens can be killed by

(a) Nitrification (b) Oxidation

(¢) Chlorination (d) None of the above
(18) T w1 I e B B

(a) U H HrH! A (b) THATSHA

(c) TH % aTH (d) AT Afw

The specific gravity of sewage is
(a) Much greater than one (b) Slightly less than one
(c) Equal to one (d) Slightly greater than one

1025
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(19) AfRwint
(i) UH RARTH
(i) T UTES TH!
(iii) 9T h) T IR |
(a) & (i) (b) (i) 3 (i)
(© (i) 3M (i) (d) e (i)
Septic tank is
(i) Settling tank
(ii) Digestion tank
(iii) Aeration tank
The correct answer is
(a) only (i) "~ (b) (i) and (iii)
(¢) (i) and (ii) (d) only (iii)
(20) AT I aRaaH FFEFI FAR |
(a) U (b) S
(c) SATaTentuT qTeTs (d ¥
The effluents from the septic tank are discharged into
(a) Soak pit (b) Drainage
(c) Oxidation Pond (d) Sewer
21) el & e =g 33 3R =aTE 1 adaar @ I SR TR R
(a) 602 3R 300 Ah (b) 30 & 3 450
() 15 3f 300 &h () 153 3100 T
The minimum and maximum diameter, of sewer shall preferably be
(a) 60 cm and 300 cm (b) 30 cm and 450 cm L
(¢) 15cmand 300 cm (d) 15cmand 100 cm
(22) et sHaE i fEE R ST 8

(a) et sifswan yamE & fog (b) et =g FaTE % T )
() ¥owsmamEmEHee  (d) Sifrere & =gad QT g % ferg
Sewerage system is designed for

(a) Maximum flow only (b) Minimum flow only

(c) Average flow only (d) Maximum and Minimum flow both
P.T.O.
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(23) Has ¥ Ao faes s adm e g I # |

(a) 3FHEICH FUSI | (b) WA ITRU / FWTER ULt F
(¢) T I AWE T A (d) fBra=ra

If sewage contains grease and fatty oils, these removed in

(a) Sedimentation tank (b) Skimming tanks
(c) Detritus tank (d) Grit chamber
(24) TR & T 1 =T AT BT TR -
(@) 50 @t (b) 100 Tft
(c) 150 @ (d) 200 &
The minimum diameter of a man-hole cover should be
(a) 50cm (b) 100 cm
(¢) 150cm (d) 200cm
(25) €teR e wHT=IE: %1 7ee @ foors et 2 |
(a) GHAw 2o b) foggus
(©) PR @ s
Sewer lines are usually laid with the help of
(a) Plain table (b) Compass
(¢) Theodolite (d) Sight rails
(26) HieR TS T T@YT 3% FreT B
(a) ferEa (b) FEUREH
(c) ®3 (d) Af=m e d
Alignment of sewer lines is started from — ,
(a) The outfall (b) The high end point
(c) The tail end (d) The last point
(27) JTET & Hit 1 A% F BT IR 2
(a) TS (b) ¥
(c) T (d) Tt I BHR
The equipment used for cleaning the sewers easily is called
(a) Gouge (b) Scoop
(¢) Claw (d) Scraper
(28) HEHRE Fi HURTE T F T 1 FHAT 2 |
(a) Wi Feirgs fireme (b) e OrET g
(c) A e (d) fatE e

Phosphorus can be removed from waste water by
(a) Ferric chloride addition (b)  Carbon adsorption
(¢) Chlorine addition (d) Rapid sand filtration
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(29) HIAW ITER THTEA] 1 HIHIRI: ATHeheaH HIeA Bl @
(@ 5¥10a9 (b) 1572094
(c) 203309 (d) 3094034
Sewage treatment units are normally designed for the period
(@) 5to 10 years (b) 15 to 20 years
(c) 20to 30 years (d) 30to 40 years
(30) THE % Tl Foreamor it R T T &
(2) TR (b)) HET
(c) ¥k T die (d) ST A B HIE ot T
The most suitable excreta disposal unit for human excreta is
(a) Privy pit (b) Cess pool
(¢) Soak pit (d) None of these
3 =Y Wiy & Tue |

Explain the following in brief.

() SEE %1 IAH TR i Rl % am

Names of methods of population forecasting.

(i) Tl
Aqua-Privy

(iii) frctavfteto
Desalination

(iv) 9% THR
Types of traps

(v) W& R
Ventilating shaft

() wwrdh fafi vgfeat o1 d@ga 7 avia i |

Describe various systems of sanitation in brief.

(i) IS rame faftr = wmgm |

Explain activated sludge process.

() g e yoeft i foear & wweTs |

Describe combined drainage system in detail.

(i) ¥ T 1 afes o |
Explain with sketch Fire-Hydrant.

1025
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5. (i)
(ii)
6. (i)
(i)
7. (i)
(ii)
8. (i)
(ii)
9. (i)
(i1)

(8 of 8)
13 Ir 9Tt o w6 @3 i faiEd | (FE 9iE)

" Write permissible standards for potable water (any five).

Hietl &) Garae 61 el 1 Bdl & 7 gHATEY |

Why ventilation of Sewers is necessary ? Explain.

e f3ra/genTs w1 wa o aresd |
Explain aeration process/unit in brief.
A-gler 1 @l gmgmsd |

Describe with sketch Man-Hole.

B I iy

Explain method of disposal of sewage by dilution method.

Hefa ster ferawor woreht & oy 7 &1 Rl |

Write advantage and disadvantages of metered water supply.

TETe TR § U 3T HUH S YT UEe] ! fiRaT |
Write important aspects of rural water supply.

S 3 Tt 723 35 o 1 A |

Describe the causes of breaking seal in traps.

S WA AT (BOD) | ! a93msd |

- Explain the Bio-chemical oxygen demand.

o=y < a3t =1 s | (T St

Explain various types of limiting velocities (sanitation engineering).

1025
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